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int main ()

{

const int arraySize = 10;

int A[larraySize] = {2, 6, 4, 8, 19, 100, 89, 68, 45, 37};

int hold;

cout << 3sbog0l 9E9gdgbEgdo Lafiyolo ™Mebdodygzdmdom:" << "\n ";
for (inti = 0; i < arraySize; i++)

cout << Alfi]l <<" "

for(int pass = 1; pass < arraySize; pass++)
for (inti = 0; i < arraySize-pass; i++)

if (A[i]>A[i+ 1)K
hold = A[i];
Ali] = A[i + 1];
Ali + 1] = hold;

b
cout << " \n @sbaMolbgdyeo dsbogol gagdgb@gdo \n ;
for (inti = 0; i < arraySize; i++)

cout << Afi] << " "

cout << "\n";

getch();

return 0;
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b. ©smbs@olbgdgemo dsbogo

C. 53900 35bbo oG ™oL LHmGmo



B IS B R

i RS RS I

B I IS R

300Mbgs 3
OMAMO0 3H030Lss 73Mbd309, M) oL ILHOMYBYdgEo FB0TZ69MIOL B30 G5 593
30m0mMYdY0?

50MB0gm 9OH™O:

a. void

b. int

C. Lob@EodumMo Jgamadss
d. double

300b3gs 4
Gmdgeo mego (header) gsowos LsFomm 653500L 35(0dgEM0BYdwo
35603msdm@ol setprecision() gsdmygbgdobmgol?

50MB0gm 9emo:
a. iostream

b. iomanip

C. conio

d. cmath
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int my_abs(int);
int main() {

int y=5;

cout<< my_abs(y);
getch();

return O;

b

int my_abs(int x){
if(x >= 0) return x;
return -x;

¥

50MBogm 9hmo:

a.5

b. -5

C. Lob@odumeo dgamads

d. true
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0l 4590@9bL 9990 3OIMAETs:

double m(double x, double y);
void main()
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{
double a=7, b=3.5, c=2.5, d=9;
cout << m(m(a,b), m(c,d))<<endl;
system (“pause”);

b
double m(double x, double y)

{

return y>x ? y: x;

b

50MB0gm 9Mmo:

a. 9

b. 2.5

c. 3.5

d. 2
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int main()<{
int k=7, n;
n =square(k);
b

int square(int a){
return a*a;

by

506B0gm 9HMO:
a. 7/

b. 35

c. 49

d. 17
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53Mbd309 030l bsdzgowo MHosbzomo GHodol dslogol 0d gargdgb@gdol xsdl,
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const int m =5;

float sum(float [],int , int);

int main()

{

float mass[m]; inti,p,q;

float rez;

for (i=0;i<m;i++) cin>>massli];

cout<<"p?g?";
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cin>>p>>q;

float sum(float a[],int p1,int q1){
int k; float s =0;
for(k=p1; k<=q1l; k++)
s +=alk];
return s;

b

50MB0gm 9Mmo:

a. rez = sum(mass[],p,q);
b. rez = sum(mass,p,q);
c. rez = sum(a,p,q);

d. rez = sum(a[l,p,q);
Joobgs 9

65 300090 99000920 BM0396¢)0L gbOEgdols 99gys©?
const int N=5;

void printArray(int a[N]);

int main()<{

int mass[N]={10,-1,5,7,2};

printArray(mass);

void printArray(int a[]){

inti;
for(i=0; i<N; i++)
cout<< ali]l<<”"™;

by
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a.10-1572
b.275-110
c.1052
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3MBJ300L  2oOE30MM35 IMbYdy, M) 499mygbgd Moy
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a. 35056 OO s MO BMBI305;

b. g6di305, Gmdgmog dg0as3b 9HOL 6 B BBYEosl;

C. @60 56 ®58g60dg 3MbJE0s, HMBWGILsE 9§30 JMMB0MO LYo s 356M5TYEMYOOL

256Lb3390wo 303930 b MoMm©gbmds;
d. 563900090mMs0bodbmm0©sb;
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50MB0gm 9Mmo:

a. bAMogdmbo s Jmgaro Gosbzo;
b. m®o dmgwo Gogbgo;

C. ™Mo LdMogdmbo.
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HMIG0 930l 53500l hsMIMZos LoFoMmm 3OrMAM5F5d0 LEHMOJMBYdOL sdwYTs3900L
B0BdE0M™MY39M0 BM6Jz09d0L (strepy (), strcat ()o Ubgs) gadmboygbgdersw?

50MB0gm 9Mmo:
a. iostream

b. stdlib

c. cstring

d. iomanip
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struct rectangle{

float length;

float width;

i
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a. struct rectangle x;
b. struct x rectangle;
c. struct rectangle;

d. struct x;

30mbgs 14
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const int N=10;

int a[N], i;

for (i=0; i<N; i++)
ali]l=rand()%31;

506GB0JD 9HMO:

a. [0, 30] ©0035%Bmb0@sb s®gdme 93mbzg30m MoEbzgdl 890o¢sbl dslogdo;
b. [0,31]©0535%mb60@6 5093w d98mbggz00m Gogbgzgdl 89o@sbl dsbogdo;
C. 0-s6 30-8eoggggees Gogbgl Bgodsbl dsbiogdo;

d. 0-@sb 31-Bsmzwom yzgws Gogbgl 890@sbl dsbogdo;
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int b = 50;

int*q = &b;

cout<<*qg+5;

Answer:|

30mbgs 16
239943b int num[10], *Ptr = num; Gm3geo Mm3gMe@™m®o ©ad9Fsgl dsbogol
i~ 90999636 06@9Ju-808000mMYGdPOL EIbBMYIO0™?

506Bogm 9M00!

a. cout <<&numl[il;

b. cout << *( Ptr +i);
c. cout << Ptr[i];

d. cout << num + i;
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M5 990093L 350m0@BL J90ga0 3OMAMmTs:
void swap (int *, int *);
int main(){
int a=15, b=25;
swap(&a, &b);
cout<<a<<b;

b
void swap (int*x, int *y){
int dam;
dam=*x;
X=*y;
*y=dam;

¥
50Mbogm ghmo:

a. 15 25
b. 25 15
6, IliS) 25
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65 500930905 3MMYMoL dglicryargdol 990gy:

#include<iostream>
usingnamespace std;
int main()
{
int *p, x=5;
p=8&x;
cout<<++(*p);
system("pause");
return O;

b
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a.5

b. 6

C. 3330300l d93Mmdss
d.7
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53L5bggm 5MLHMEOO AsdMmbsmdgzsdo:

50MBogm 9Mmo:
a. 9s5b030L Lobgeo sGOL JodMoMYdIEO

b. 36:myM58580 dg0degds 309000mMdOL IMOGBOEOMIdS SHO0MIYH03o dmddgogdgdol
5HIsMgd0m

C. 35b030L Lobgol MEOGBOEMYOS SOO0MTYEH03wo ImddggdgdolL Lsd segdom 56 Jgodwrgds
d. 890dgds Mo JodNomgdol F93G9ds
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double a[20];

cout << sizeof a / sizeof( double );
506B0gm 9O00!

a.20/8

b. LobEoJu@o gzmds

c. 20

d. 1



